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p = [0.1, 0.4, 0.3, 0.2]

. >1�4"�*���� !1����6
g = 9.81

�
/
�
2
.

? @A BCDEF G HI H JKLKMN OP QRPSRQNMRTUPV WRXKYNUR T SRZ RYN[WN \ ] ^_`a bbc d e cf
ghJeijkhjl mn bn c o mpq r c sT cbbbt

uvwvxv yz{| }~} ��� ��EF � CD@B

� �
α

� � �
-F

R1 = 2
l
r1 = 1

l
ρ1 = 2

l
R2 = 4

l
r2 = 2

l
ρ2 = 2

l
R3 = 3

l
r3 = 2

l
ρ3 = 2

l
R4 = 3

l
r4 = 1

l
ρ4 = 2

l
m1 = 4

l
m2 = 80

l
m3 = 4

l
m4 = 48

l
m5 = 2

c
S = [8.3, 8.5, 8.7, 8.8]
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R1 = 2
l
r1 = 1

l
ρ1 = 1

l
R2 = 4

l
r2 = 2

l
ρ2 = 3

l
R3 = 4

l
r3 = 2

l
ρ3 = 3

l
R4 = 4

l
r4 = 2

l
ρ4 = 3

l
m1 = 4

l
m2 = 32

l
m3 = 16

l
m4 = 4

l
m5 = 4

c
S = [5.3, 5.4, 5.6, 5.9]
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?M R2 = 4
l
r2 = 2

l
ρ2 = 2

l
R3 = 4

l
r3 = 1

l
ρ3 = 3

l
R4 = 3

l
r4 = 1

l
ρ4 = 2

l
m1 = 2

l
m2 = 8

l
m3 = 64

l
m4 = 64

l
m5 = 16

c
S = [8.2, 8.4, 8.6, 8.9]
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R2 = 4
l
r2 = 2

l
ρ2 = 3

l
R3 = 4

l
R4 = 4

l
r4 = 1

l
ρ4 = 3

l
m1 = 2

l
m2 = 16

l
m3 = 8

l
m4 = 3

l
m5 = 50

c
S = [4.2, 4.5, 4.7, 4.9]
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-F R2 = 4
l
r2 = 2

l
ρ2 = 3

l
R3 = 3

l
r3 = 2

l
ρ3 = 2

l
R4 = 4

l
r4 = 1

l
ρ4 = 3

l
m1 = 2

l
m2 = 16

l
m3 = 100

l
m4 = 75

l
m5 = 625

c
S = [1.3, 1.5, 1.7, 1.8]
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R2 = 4
l
r2 = 2

l
ρ2 = 2

l
R3 = 6

l
R4 = 2

l
r4 = 1

l
ρ4 = 1

l
m1 = 2

l
m2 = 4

l
m3 = 8

l
m4 = 3

l
m5 = 4

c
S = [9.3, 9.4, 9.6, 9.8]
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R2 = 4
l
r2 = 2

l
ρ2 = 3

l
R3 = 3

l
r3 = 2

l
ρ3 = 2

l
R4 = 4

l
r4 = 1

l
ρ4 = 3

l
m1 = 8

l
m2 = 16

l
m3 = 252

l
m4 = 576

l
m5 = 1152

c
S = [4.2, 4.4, 4.7, 4.8]

W c

uvwvxv yz{| }� } �F�CA �D�E  ���DC

α
�

�

� � �
��

?
M

R1 = 2
l
r1 = 1

l
ρ1 = 1

l
R2 = 3

l
r2 = 2

l
ρ2 = 3

l
R3 = 5

l
r3 = 2

l
ρ3 = 4

l
R4 = 4

l
r4 = 1

l
ρ4 = 3

l
m1 = 16

l
m2 = 12

l
m3 = 63

l
m4 = 54

l
m5 = 250

c
S = [5.2, 5.4, 5.7, 5.8]
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R2 = 4
l
r2 = 2

l
ρ2 = 2

l
R3 = 3

l
r3 = 2

l
ρ3 = 2

l
R4 = 3

l
r4 = 1

l
ρ4 = 2

l
m1 = 4

l
m2 = 8

l
m3 = 125

l
m4 = 20

l
m5 = 150

c
S = [9.2, 9.5, 9.6, 9.8]
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R1 = 2
l
r1 = 1

l
ρ1 = 1

l
R2 = 3

l
r2 = 2

l
ρ2 = 3

l
R3 = 4

l
r3 = 2

l
ρ3 = 3

l
R4 = 4

l
m1 = 4

l
m2 = 8

l
m3 = 16

l
m4 = 6

l
m5 = 2

c
S = [3.3, 3.5, 3.7, 3.8]
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R1 = 2
l
r1 = 1

l
ρ1 = 2

l
R2 = 4

l
r2 = 2

l
ρ2 = 3

l
R3 = 2

l
r3 = 1

l
ρ3 = 1

l
R4 = 3

l
r4 = 1

l
ρ4 = 2

l
m1 = 20

l
m2 = 80

l
m3 = 16

l
m4 = 448

l
m5 = 96

c
S = [5.3, 5.4, 5.7, 5.8]
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R1 = 2
l
r1 = 1

l
ρ1 = 2

l
R2 = 3

l
r2 = 2

l
ρ2 = 2

l
R3 = 2

l
r3 = 1

l
ρ3 = 1

l
R4 = 2

l
r4 = 1

l
ρ4 = 1

l
m1 = 4

l
m2 = 4

l
m3 = 4

l
m4 = 3

l
m5 = 2

c
S = [6.3, 6.5, 6.6, 6.9]
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R1 = 2
l
r1 = 1

l
ρ1 = 1

l
R2 = 4

l
r2 = 2

l
ρ2 = 3

l
R3 = 4

l
r3 = 1

l
ρ3 = 3

l
R4 = 4

l
m1 = 4

l
m2 = 48

l
m3 = 4

l
m4 = 75

l
m5 = 100

c
S = [3.2, 3.4, 3.6, 3.8]
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